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Tnpsc Geography 2021 Questions Part 1 in English  

More Questions: https://wp.me/p7JanY-6T4 

1. Identify the ports of India labelled as 1, 2, 3 and 4 in the given Rough map of India: 

 

(a) Haldia, Paradeep, Masulipatinam, Tuticorin   

(b) Paradeep, Haldia, Masulipatinam, Tuticorin 

(c) Tuticorin, Masulipatinam, Paradeep, Haldia   

(d) Masulipatinam, Tuticorin, Haldia, Paradeep 

(e) Answer not known 

2. Assertion (A): Since the moon is smaller than the earth, it has 1/6 of the gravitational pull of the earth. 

Reason (R): So the man weighs 16 times less on the moon than the earth. 

(a) A is true, R is false  (b) Both A and R are true and R is the correct explanation of A 

(c) A is false, R is true  (d) Both A and R are true and R is not the correct explanation of A 

(e) Answer not known 

3. Read the sentences below and give the correct answer: 

Assertion (A): Extinction is defined as the permanent disappearance of an organism from the face of the 

earth. 

Reason (R): Climatic change accelerates the competition between large mammals for shelter and food. 

(a) A wrong R correct  (b) Both A and R are correct  (d) R does not explain A 

(d) A only correct  (e) Answer not known 

4. Which of the following statement has the Risk Reduction measures for cyclone? 

I. Ignore rumours, stay calm don’t be panic 
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II. Keep your documents and valuables in waterproof containers 

III. Prepare an emergency kits with essential items for survival 

IV. Switch on all the electrical appliance 

(a) I, II and III are correct (b) I and II are correct  (c) III and IV are correct 

(d) IV only correct  (e) Answer not known 

5. Match the following rivers with its place of origin using the codes given: 

Rivers    Place of Origin 

(a) The Indus   1. Gangotri 

(b) The Brahmaputra  2. Chemayungdung 

(c) The Ganga   3. Mahabaleshwar 

(d) The Krishna  4. Manasarovar 

 (a) (b) (c) (d) 

(a) 4 1 2 3 

(b) 3 2 4 1 

(c) 4 1 3 2 

(d) 2 3 4 1 

(e) Answer not known 

6. Which method has been used to identified biodiversity through remote sensing and GIS? 

(a) Data analysis (b) Gap analysis (c) Statistical analysis  (d) Scientific analysis 

(e) Answer not known 

7. Consider the following statements and select the correct answer: 

Assertion (A): The developed countries have a low growth rate of population. 

Reason (R): African countries are having highest growth rate of population. 

(a) A and R are correct and R is the correct explanation of A 

(b) A and R are correct but R is not the correct explanation of A 

(c) A is true but R is false 
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(d) A is false but R is true 

(e) Answer not known 

8. Match the Wild Life sanctuaries in India with respective states: 

(a) Bhitarkanika  1. Goa 

(b) Nokrek   2. Odisha 

(c) Dalma   3. Meghalaya 

(d) Bondla   4. Jharkhand 

 (a) (b) (c) (d) 

(a) 2 3 4 1 

(b) 1 2 3 4 

(c) 3 4 1 2 

(d) 4 1 2 3 

(e) Answer not known 

9. Consider the following statements related to the Growth of population in under-developed nations: 

1. Low savings due to high level consumption expenditure 

2. It destroys the natural resources 

3. It stimulate greater productivity and savings 

Select the correct answers by using the codes: 

(a) 1 only (b) 2 only (c) 1 and 2 (d) 2 and 3 (e) Answer not known 

10. Who was the architect of atomic research in India? 

(a) Nehru (b) Homi Bhaba (c) Bhatnagar  (c) Abdul Kalam (e) Answer not known 

11. Which among the following is regarded as the leading cause of air pollution? 

(a) Agriculture  (b) Warfare  (c) Mining and Construction   

(d) Motor Vehicle Emission  (e) Answer not known 

12. Where is the Sivalik hill located? 

(a) Outer Himalaya (b) Greater Himalaya  (c) Sub-Himalaya (d) Central Himalaya 
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(e) Answer not known 

13. Assertion (A): Attitude of the eastern Himalayas increase rapidly unlike Western Himalayas. 

Reason (R): World’s highest peaks, Everest and Kanchanjunga are situated in the vicinity of Bihar and 

West Bengal Plains. 

(a) Both A and R are true and R is the correct explanation of A 

(b) Both A and R are true and R is not the correct explanation of A 

(c) A is true but R is false 

(d) A is false but R is true 

(e) Answer not known 

14. The Chairperson of National Disaster Management Authority is 

(a) Prime Minister (b) Home Minister (c) The President (d) Defence Minister 

(e) Answer not known 

15. The most important scheduled tribes of Uttar Pradesh and Uttarkhand. 

(a) Todas (b) Nagas (c) Santhals  (d) Tharus  (e) Answer not known 

16. The most populous State of India is 

(a) Bihar (b) Maharashtra (c) Uttar Pradesh (d) West Bengal (e) Answer not known 

17. The total no. of railway zones in India are 

(a) Fourteen Zones (b) Fifteen Zones (c) Sixteen Zones (d) Seventeen Zones 

(e) Answer not known 

18. -------------- soil if found in all the districts of Tamil Nadu except Nilgris. 

(a) Red soil (b) Black soil  (c) Laterite soil (d) Sandy soil  (e) Answer not known 

19. Identify the option in which the rivers are given in North-South sequence. 

(a) Godavari-Mahanadi-Kaveri-Krishna  (b) Mahanadi-Godavari-Krishna-Kaveri 

(c) Krishna-Kaveri-Godavari-Mahanadi  (d) Kaveri-Godaveri-Mahanadi-Krishna 

(e) Answer not known 

20. Which of the following rivers originate in Karnataka? 
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I. Bhavani II. Palar III. Pennaiyar  IV. Cauvery 

Choose the correct one: 

(a) I, II, III (b) IV, I, II (c) III, IV, I (d) II, III, IV (e) Answer not known 

21. Pick out the effect that is not related to the impacts of Earthquake. 

(a) Fissures (b) Collapse (c) Tsunami (d) Depression zone formation (e) Answer not known 

22. Match the following: 

(a) Backwaters  1. Linking up of river system for irrigation 

(b) Canals   2. Used for crossing broad river 

(c) Dug out Canoe  3. Connecting one water way with other 

(d) Dams   4. Used for some limited navigation 

 (a) (b) (c) (d) 

(a) 4 3 2 1 

(b) 3 2 1 4 

(c) 4 2 3 1 

(d) 3 4 2 1 

(e) Answer not known 

23. What is Density of Population? 

(a) The number of people living in per (one) sq. km. 

(b) The number of people living in 10 sq. km. 

(c) The number of people living in 100 sq. km. 

(d) The number of people living in 200 sq. km. 

(e) Answer not known 

24. Why India has not become self-reliant in edible oil productions? 

I. High cultivation cost   II. Low productivity 

III. Lack of Government support  IV. Deficient domestic demand 

(a) II only (b) I and III (c) I, II and III  (d) I only (e) Answer not known 
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25. Which one of the following agricultural practices is eco-friendly? 

(a) Organic farming  (b) Shifting cultivation (c) Cultivation of high yielding varieties 

(d) Growing plants in glass houses  (e) Answer not known 

26. The two head streams of Ganga, the Alakananda and Bhagirathi which join together at 

(a) Deva Prayag (b) Karna Prayag (c) Vishnu Prayag  (d) Rudra Prayag 

(e) Answer not known 

27. Which one of the following minerals is famous for mining in Bababudan hills? 

(a) Copper (b) Bauxite (c) Iron (d) Zinc (e) Answer not known 

28. What is/are the cause.causes for population growth in India? 

I. Falling death rate  II. Lack of education  III. Late marriage 

(a) I only (b) I and II only (c) I and III only (d) I, II and III  (e) Answer not known 

29. Match the following: 

 List I   List II 

Mountain Pase   State 

(a) Bumla   1. Sikkim 

(b) Khardung la  2. Jammu & Kashmir 

(c) Nathu la   3. Himachal Pradesh 

(d) Shipki la   4. Arunachal Pradesh 

 (a) (b) (c) (d) 

(a) 2 1 4 3 

(b) 2 4 3 1 

(c) 4 2 3 1 

(d) 4 2 1 3 

(e) Answer not known 

30. Match the following: 

Name of the Hydro electric power plants   States 
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(a) Balimela       1. Maharashtra 

(b) Girna       2. Odisha 

(c) Akrimota       3. Assam 

(d) Kopali       4. Gujarat 

 (a) (b) (c) (d) 

(a) 2 1 4 3 

(b) 1 2 3 4 

(c) 4 3 2 1 

(d) 4 1 2 3 

(e) Answer not known 

31. Match the List I with List II and select the correct answer using the codes given below: 

 List I     List II 

(a) Kanjamalai Iron deposist   1. Vellore 

(b) Textile capital of TN   2. Dharmapuri 

(c) Lowest sex ratio    3. Salem 

(d) Top export of leather goods  4. Karur 

 (a) (b) (c) (d) 

(a) 3 2 1 4 

(b) 3 1 4 2 

(c) 3 4 2 1 

(d) 3 1 2 4 

(e) Answer not known 
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